cs104 Exercise Set 10
1. In MatLab an array is declared with which syntax:
a. int [ ] vals;
b. vals = [ 1, 2];
c. array int [ ] vals;

d. array vals = [1,2];;

2. The offset of the first member of an array is:

a. 0
b. 1
c. The size of the array
d. The size of the array minus 1
3. The offset of the last member of an array is:

a. 0

b. 1

c. The size of the array

d. The size of the array minus 1

4. Accessing a member of an array at index 6 is done with:

a. vals[5]
b. vals[6]

c. vals(6)
d. vals{6}
5. Set ASIZE to 5.  Write a program that creates an array of ASIZE numeric elements.  Prompt the User for ASIZE numbers and store them in the array.  After storing the values, calculate the sum of all the values in the array and display the sum.
6. Modify the program you wrote for Problem 5 such that it calculates the product of all the values instead of the sum.

7. Modify the program you wrote in Problem 6 such that it changes the value of each element of the array by multiplying each element of the array by 2, and then displays each element of the array.

